STRONGLY LACUNARY CONVERGENCE OF ORDER α IN NEUTROSOPHIC NORMED SPACES

HACER ŞENGÜL KANDEMIR^{1*}, MIKAIL ET² AND HÜSEYIN ÇAKALLI³

Abstract. In this paper, the concept of a strongly lacunary convergence of order α in the neutrosophic normed spaces is introduced. A few fundamental properties of this new concept are investigated.

1. INTRODUCTION

The concept 'neutrosophy' implies impartial knowledge of a thought that neutrally describes the basic difference between neutral, fuzzy, intuitive fuzzy set and logic. The neutrosophic set (NS) was investigated by Smarandache [15] who defined the degree of indeterminacy (i) as an independent component. The neutrosophic logic was firstly examined in [16]. It is a logic, where each proposition is determined to have a degree of truth (T), falsity (F), and indeterminacy (I). A neutrosophic set (NS) is determined as a set in which every component of the universe has a degree of T, F and I. In intuitionistic fuzzy set (IFS) the 'degree of non-belongingness' is not independent, but it is dependent on the 'degree of belongingness'. Fuzzy sets (FSs) can be thought as a remarkable case of an IFS, where the 'degree of non-belongingness' of an element is absolutely equal to '1- degree of belongingness'. Uncertainty is based on the belongingness degree in IFSs, whereas the uncertainty in NS is considered independently of T and F values. Since there are no any limitations among the degrees of T, F, I, the neutrosophic sets (NSs) are actually more general than IFS. Neutrosophic soft linear spaces (NSLSs) were considered by Bera and Mahapatra [2]. Subsequently, in [3], the concept of a neutrosophic soft normed linear space (NSNLS) was defined and the features of NSNLS were examined.

Kirişçi and Şimşek [4] defined a new concept known as neutrosophic metric space (NMS) with continuous t-norms and continuous t-conorms. Some notable features of NMS have been examined. The neutrosophic normed space (NNS) and the statistical convergence in NNS have been investigated by Kirişçi and Şimşek [5]. Neutrosophic set and neutrosophic logic are used in applied sciences and theoretical sciences such as decision making, robotics, summability theory.

In [6], lacunary statistical convergence of sequences in NNS was examined. Also, lacunary statistically Cauchy sequence in NNS was given and lacunary statistically completeness in connection with a neutrosophic normed space was presented. Kişi [7] defined lacunary ideal convergence and gave various results about lacunary ideal convergence in [7] and [8].

Definition 1 ([9]). Let $*: [0,1] \times [0,1] \rightarrow [0,1]$ be an operation. When * satisfies following situations, it is called continuous TN (Triangular norms (t-norms)). Take $p, q, r, s \in [0,1]$:

(i) p * 1 = p,

(ii) if $p \leq r$ and $q \leq s$, then $p * q \leq r * s$,

- (iii) * is continuous,
- (iv) * is associative and commutative.

Definition 2 ([9]). Let $\diamond : [0,1] \times [0,1] \to [0,1]$ be an operation. When \diamond satisfies following situations, it is said to be continuous TC (Triangular conorms (t-conorms)).

(i) $p \diamondsuit 0 = p$,

²⁰²⁰ Mathematics Subject Classification. 40A05, 40C05, 46A45.

Key words and phrases. Lacunary convergence; Neutrosophic normed space; Lacunary sequence.

^{*}Corresponding author.

- (ii) if $p \leq r$ and $q \leq s$, then $p \Diamond q \leq r \Diamond s$,
- (iii) \Diamond is continuous,
- (iv) \Diamond is associative and commutative.

Definition 3 ([5]). Let F be a vector space, $N = \{\langle u, G(u), B(u), Y(u) \rangle : u \in F\}$ be a normed space (NS) such that $N : F \times \mathbb{R}^+ \to [0, 1]$. While following conditions hold, $V = (F, N, *, \Diamond)$ is called to be NNS. For each $u, v \in F$ and $\lambda, \mu > 0$ and for all $\sigma \neq 0$,

(i) $0 \leq G(u, \lambda) \leq 1, 0 \leq B(u, \lambda) \leq 1, 0 \leq Y(u, \lambda) \leq 1, \forall \lambda \in \mathbb{R}^+$ (ii) $G(u, \lambda) + B(u, \lambda) + Y(u, \lambda) \le 3, \forall \lambda \in \mathbb{R}^+$ (iii) $G(u, \lambda) = 1$ (for $\lambda > 0$) iff u = 0, (iv) $G(\sigma u, \lambda) = G\left(u, \frac{\lambda}{|\sigma|}\right)$, (v) $G(u, \mu) * G(v, \lambda) \leq \dot{G}(u + v, \mu + \lambda)$ (vi) G(u, .) is a non-decreasing continuous function, (vii) $\lim_{\lambda \to \infty} G(u, \lambda) = 1,$ (viii) $B(u, \lambda) = 0$ (for $\lambda > 0$) iff u = 0,(ix) $B(\sigma u, \lambda) = B\left(u, \frac{\lambda}{|\sigma|}\right)$, (x) $B(u,\mu) \Diamond B(v,\lambda) \ge B(u+v,\mu+\lambda)$ (xi) B(u, .) is a non-increasing continuous function, (xii) $\lim B(u, \lambda) = 0,$ (xiii) $\stackrel{\lambda \to \infty}{Y}(u, \lambda) = 0$ (for $\lambda > 0$) iff u = 0, (xiv) $Y(\sigma u, \lambda) = Y\left(u, \frac{\lambda}{|\sigma|}\right)$, (xv) $Y(u,\mu) \Diamond Y(v,\lambda) \ge Y(u+v,\mu+\lambda)$ (xvi) Y(u, .) is a non-increasing continuous function, (xvii) $\lim Y(u, \lambda) = 0,$ (xviii) If $\lambda \leq 0$, then $G(u, \lambda) = 0$, $B(u, \lambda) = 1$ and $Y(u, \lambda) = 1$. Then N = (G, B, Y) is called Neutrosophic norm (NN).

Definition 4 ([5]). Let V be an NNS, the sequence (x_k) in $V, \varepsilon \in (0, 1)$ and $\lambda > 0$. Then the squence (x_k) converges to ζ iff there is $N \in \mathbb{N}$ such that $G(x_k - \zeta, \lambda) > 1 - \varepsilon$, $B(x_k - \zeta, \lambda) < \varepsilon$, $Y(x_k - \zeta, \lambda) < \varepsilon$. That is, $\lim_{k \to \infty} G(x_k - \zeta, \lambda) = 1$, $\lim_{k \to \infty} B(x_k - \zeta, \lambda) = 0$ and $\lim_{k \to \infty} Y(x_k - \zeta, \lambda) = 0$ as $\lambda > 0$. In that case, the sequence (x_k) is named a convergent sequence in V. The convergent in NNS is indicated by $N - \lim x_k = \zeta$.

Definition 5 ([5]). Let V be an NNS. For $\lambda > 0$, $w \in F$ and $\varepsilon \in (0, 1)$,

$$OB(w,\varepsilon,\lambda) = \{u \in F : G(w-u,\lambda) > 1-\varepsilon, B(w-u,\lambda) < \varepsilon, Y(w-u,\lambda) < \varepsilon\}$$

is called an open ball with center w and radius ε .

Definition 6 ([5]). The set $A \subset F$ is called neutrosophic-bounded (NB) in NNS V if there exist $\lambda > 0$ and $\varepsilon \in (0, 1)$ such that $G(u, \lambda) > 1 - \varepsilon$, $B(u, \lambda) < \varepsilon$ and $Y(u, \lambda) < \varepsilon$ for each $u \in A$.

An increasing integer sequence $\theta = (k_r)$ is said to be a lacunary sequence such that $k_0 = 0$ and $h_r = (k_r - k_{r-1}) \to \infty$ as $r \to \infty$. The interval determined by θ is denoted by $I_r = (k_{r-1}, k_r]$ and the ratio $\frac{k_r}{k_{r-1}}$ is abbreviated by q_r , and $q_1 = k_1$, for convenience. Lacunary convergence was studied in [1,10–13].

2. Main Results

In this section, we give the definition of a strong lacunary convergence of order α with respect to $NN \ (LC - NN)$, where $0 < \alpha \leq 1$ and present some results related to this concept.

Definition 7. Take an NNS V. For a lacunary sequence θ and $0 < \alpha \leq 1$, a sequence $x = (x_k)$ is said to be strongly lacunary convergent to $\zeta \in F$ of order α with respect to NN (LC - NN) if for every $\lambda > 0$ and $\varepsilon \in (0, 1)$, there is $r_0 \in \mathbb{N}$ such that

$$\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G(x_k - \zeta, \lambda) > 1 - \varepsilon \text{ and } \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B(x_k - \zeta, \lambda) < \varepsilon, \quad \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k - \zeta, \lambda) < \varepsilon,$$

for all $r \ge r_0$. We indicate $(G, B, Y)^{\alpha}_{\theta} - \lim x = \zeta$. In case of $\theta = (2^r)$, $(G, B, Y)^{\alpha} - \lim x = \zeta$ is obtained.

Theorem 1. Let V be an NNS. If x is strongly lacunary convergent with respect to NN, then $(G, B, Y)^{\alpha}_{\theta} - \lim x = \zeta$ is unique.

Proof. Suppose that $(G, B, Y)^{\alpha}_{\theta} - \lim x = \zeta_1$, $(G, B, Y)^{\alpha}_{\theta} - \lim x = \zeta_2$ and $\zeta_1 \neq \zeta_2$. Given $\varepsilon > 0$, select $\rho \in (0, 1)$ such that $(1 - \rho) * (1 - \rho) > 1 - \varepsilon$ and $\rho \Diamond \rho < \varepsilon$. For each $\lambda > 0$, there is $r_1 \in \mathbb{N}$ such that

$$\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G(x_k - \zeta_1, \lambda) > 1 - \rho \text{ and } \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B(x_k - \zeta_1, \lambda) < \rho, \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k - \zeta_1, \lambda) < \rho,$$

for all $r \geq r_1$. Also, there is $r_2 \in \mathbb{N}$ such that

$$\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G(x_k - \zeta_2, \lambda) > 1 - \rho \text{ and } \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B(x_k - \zeta_2, \lambda) < \rho, \\ \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k - \zeta_2, \lambda) < \rho,$$

for all $r \ge r_2$. Assume that $r_0 = \max\{r_1, r_2\}$. Then for $r \ge r_0$, we can find a positive integer $m \in \mathbb{N}$ such that $G(\zeta_1 - \zeta_2, \lambda) \ge G(x_m - \zeta_1, \frac{\lambda}{2}) * G(x_m - \zeta_2, \frac{\lambda}{2}) > (1 - \rho) * (1 - \rho) > 1 - \varepsilon$,

$$B(\zeta_1 - \zeta_2, \lambda) \le B\left(x_m - \zeta_1, \frac{\lambda}{2}\right) \Diamond B\left(x_m - \zeta_2, \frac{\lambda}{2}\right) < \rho \Diamond \rho < \varepsilon$$

and

$$Y(\zeta_1 - \zeta_2, \lambda) \le Y\left(x_m - \zeta_1, \frac{\lambda}{2}\right) \Diamond Y\left(x_m - \zeta_2, \frac{\lambda}{2}\right) < \rho \Diamond \rho < \varepsilon$$

Since $\varepsilon > 0$ is abritrary, we get $G(\zeta_1 - \zeta_2, \lambda) = 1$, $B(\zeta_1 - \zeta_2, \lambda) = 0$ and $Y(\zeta_1 - \zeta_2, \lambda) = 0$, for all $\lambda > 0$, which gives $\zeta_1 = \zeta_2$.

Now, we give an example to denote the sequence of strongly lacunary convergence of order α in an NNS.

Example. Let (F, ||.||) be an NNS. For all $u, v, \alpha \in [0, 1]$, define u * v = uv and $u \diamond v = \min \{u + v; 1\}$. For all $x \in F$ and every $\lambda > 0$, we take $G(x, \lambda) = \frac{\lambda}{\lambda + ||x||}, B(x, \lambda) = \frac{||x||}{\lambda + ||x||}$ and $Y(x, \lambda) = \frac{||x||}{\lambda}$. Then V is an NNS. We define a sequence (x_k) by

$$x_k = \begin{cases} 1, & \text{if } k = t^2 (t \in \mathbb{N}), \\ 0, & \text{otherwise.} \end{cases}$$

Consider

$$A = \left\{ k \in I_r : G(x,\lambda) > 1 - \varepsilon \text{ and } B(x,\lambda) < \varepsilon, Y(x,\lambda) < \varepsilon \right\}.$$

Then for any $\lambda > 0$ and for all $\varepsilon \in (0, 1)$, the following set

$$A = \left\{ k \in I_r : \frac{\lambda}{\lambda + ||x_k||} > 1 - \varepsilon, \text{ and } \frac{||x_k||}{\lambda + ||x_k||} < \varepsilon, \frac{||x_k||}{\lambda} < \varepsilon \right\}$$
$$= \left\{ k \in I_r : ||x_k|| \le \frac{\lambda\varepsilon}{1 - \varepsilon}, \text{ and } ||x_k|| < \lambda\varepsilon \right\}$$
$$\subset \left\{ k \in I_r : ||x_k|| = 1 \right\} = \left\{ k \in I_r : k = t^2 \right\}$$

i.e.,

$$A_r(\varepsilon,\lambda) = \left\{ r \in \mathbb{N} : \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G(x_k,\lambda) > 1 - \varepsilon \text{ and } \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B(x_k,\lambda) < \varepsilon, \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k,\lambda) < \varepsilon \right\}$$

will be a finite set.

Theorem 2. If $(G, B, Y)^{\alpha}_{\theta} - \lim x = \zeta$, then there is a subsequence (x_{ρ_k}) of x such that $(G, B, Y)^{\alpha}_{\theta} - \lim x_{\rho_k} = \zeta$.

Proof. Take $(G, B, Y)^{\alpha}_{\theta} - \lim x = \zeta$. Then, for every $\lambda > 0$ and $\varepsilon \in (0, 1)$, there is $r_0 \in \mathbb{N}$ such that

$$\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G(x_k - \zeta, \lambda) > 1 - \varepsilon \text{ and } \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B(x_k - \zeta, \lambda) < \varepsilon, \quad \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k - \zeta, \lambda) < \varepsilon,$$

for all $r \ge r_0$. Obviously, for each $r \ge r_0$, we choose $\rho_k \in I_r$ such that

$$G(x_{\rho_k} - \zeta, \lambda) > \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G(x_k - \zeta, \lambda) > 1 - \varepsilon,$$

$$B(x_{\rho_k} - \zeta, \lambda) < \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B(x_k - \zeta, \lambda) < \varepsilon,$$

$$Y(x_{\rho_k} - \zeta, \lambda) < \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k - \zeta, \lambda) < \varepsilon.$$

It follows that $(G, B, Y)^{\alpha}_{\theta} - \lim x_{\rho_k} = \zeta.$

Theorem 3. Let $0 < \alpha \leq 1$. If $\liminf_r q_r > 1$, then $(G, B, Y)^{\alpha} \subset (G, B, Y)^{\alpha}_{\theta}$.

Proof. Take $(G, B, Y)^{\alpha} - \lim x = \zeta$. Since $\frac{k_r^{\alpha}}{h_r^{\alpha}} > \frac{h_r^{\alpha}}{h_r^{\alpha}}$ for all $r \ge 1$, we can write

$$\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G(x_k - \zeta, \lambda) = \frac{1}{h_r^{\alpha}} \sum_{k=1}^{k_r} G(x_k - \zeta, \lambda) - \frac{1}{h_r^{\alpha}} \sum_{k=1}^{k_{r-1}} G(x_k - \zeta, \lambda)$$
$$= \frac{k_r^{\alpha}}{h_r^{\alpha}} \left(\frac{1}{k_r^{\alpha}} \sum_{k=1}^{k_r} G(x_k - \zeta, \lambda) \right) - \frac{k_{r-1}^{\alpha}}{h_r^{\alpha}} \left(\frac{1}{k_{r-1}^{\alpha}} \sum_{k=1}^{k_{r-1}} G(x_k - \zeta, \lambda) \right)$$
$$> \frac{k_r^{\alpha}}{h_r^{\alpha}} \left(\frac{1}{k_r^{\alpha}} \sum_{k=1}^{k_r} G(x_k - \zeta, \lambda) \right) > \left(\frac{1}{k_r^{\alpha}} \sum_{k=1}^{k_r} G(x_k - \zeta, \lambda) \right) > 1 - \varepsilon.$$

Since $h_r = k_r - k_{r-1}$, we have

$$\frac{k_r^{\alpha}}{h_r^{\alpha}} \leq \frac{(1+\delta)^{\alpha}}{\delta^{\alpha}} \text{ and } \frac{k_{r-1}^{\alpha}}{h_r^{\alpha}} \leq \frac{1}{\delta^{\alpha}}.$$

From here, $\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B(x_k - \zeta, \lambda) < \varepsilon$ and $\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k - \zeta, \lambda) < \varepsilon$ are obtained. Thus $(G, B, Y)_{\theta}^{\alpha} - C$

$$\lim x = \zeta.$$

Theorem 4. Let $\theta = (k_r)$ and $\theta' = (s_r)$ be two lacunary sequences such that $I_r \subseteq J_r$ for all $r \in \mathbb{N}$, and let α and β be fixed real numbers such that $0 < \alpha \leq \beta \leq 1$. If

$$\lim_{r \to \infty} \inf \frac{(h'_r)^{\beta}}{(h_r)^{\alpha}} > 0 \quad and \quad \lim_{r \to \infty} \frac{h'_r}{(h_r)^{\beta}} = 1$$
(1)

hold and $A \subset F$ is neutrosophic-bounded (NB) in NNS V, then $(G, B, Y)^{\alpha}_{\theta} \subset (G, B, Y)^{\beta}_{\theta'}$, where $I_r = (k_{r-1}, k_r], J_r = (s_{r-1}, s_r], h_r = k_r - k_{r-1}, h'_r = s_r - s_{r-1}$.

Proof. Let $x \in (G, B, Y)^{\alpha}_{\theta}$ and assume that (1) holds. Since $A \subset F$ is neutrosophic-bounded (NB) in NNSV, there exists some $\lambda > 0$ such that $\frac{1}{h^{\alpha}_r} \sum_{k \in I_r} G(x_k - \zeta, \lambda) > 1 - \varepsilon$ and $\frac{1}{h^{\alpha}_r} \sum_{k \in I_r} B(x_k - \zeta, \lambda) > 1 - \varepsilon$

 $\zeta, \lambda) < \varepsilon, \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k - \zeta, \lambda) < \varepsilon$ for each $(x_k - \zeta) \in A$. Now, since $I_r \subseteq J_r$ and $h_r \leq h'_r$ for all $r \in \mathbb{N}$, we can write

$$\frac{1}{(h_r)^{\alpha}} \sum_{k \in I_r} G(x_k - \zeta, \lambda) \leq \frac{1}{(h_r)^{\alpha}} \sum_{k \in J_r} G(x_k - \zeta, \lambda)$$
$$= \frac{(h_r')^{\beta}}{(h_r)^{\alpha}} \frac{1}{(h_r')^{\beta}} \sum_{k \in J_r} G(x_k - \zeta, \lambda)$$

for all $r \in \mathbb{N}$. Therefore we obtain

$$\frac{1}{(h_r')^{\beta}} \sum_{k \in J_r} B(x_{p_k} - \zeta, \lambda) = \frac{1}{(h_r')^{\beta}} \sum_{k \in J_r - I_r} B(x_k - \zeta, \lambda) + \frac{1}{(h_r')^{\beta}} \sum_{k \in I_r} B(x_k - \zeta, \lambda)$$
$$\leq \frac{h_r' - h_r}{(h_r')^{\beta}} \varepsilon + \frac{1}{(h_r')^{\beta}} \sum_{k \in I_r} B(x_k - \zeta, \lambda)$$
$$\leq \frac{h_r' - (h_r)^{\beta}}{(h_r)^{\beta}} \varepsilon + \frac{1}{(h_r)^{\alpha}} \sum_{k \in I_r} B(x_k - \zeta, \lambda)$$
$$\leq \left(\frac{h_r'}{(h_r)^{\beta}} - 1\right) \varepsilon + \frac{1}{(h_r)^{\alpha}} \sum_{k \in I_r} B(x_k - \zeta, \lambda),$$

for every $r \in \mathbb{N}$. Therefore $\frac{1}{(h'_r)^{\beta}} \sum_{k \in J_r} G(x_k - \zeta, \lambda) > 1 - \varepsilon$ and $\frac{1}{(h'_r)^{\beta}} \sum_{k \in J_r} B(x_k - \zeta, \lambda) < \varepsilon$. It can be shown to be $\frac{1}{(h'_r)^{\beta}} \sum_{k \in J_r} Y(x_k - \zeta, \lambda) < \varepsilon$ by similar operations. $(G, B, Y)^{\alpha}_{\theta} \subset (G, B, Y)^{\beta}_{\theta'}$ is obtained as the result.

Thus in the light of Theorem 4, we have the following result.

Corollary. Let $\theta = (k_r)$ and $\theta' = (s_r)$ be two lacunary sequences such that $I_r \subset J_r$ for all $r \in \mathbb{N}$. If (1) holds and is NB then:

(i) $(G, B, Y)^{\alpha}_{\theta} \subset (G, B, Y)_{\theta'}$ for $0 < \alpha \le 1$, (ii) $(G, B, Y)_{\alpha} \subset (G, B, Y)_{\alpha'}$

(11)
$$(G, B, Y)_{\theta} \subset (G, B, Y)_{\theta'}$$

Definition 8. Take an NNS V. A sequence $x = (x_k)$ is said to be strongly lacunary Cauchy of order α with respect to the NN N (LCa - NN) if for every $\varepsilon \in (0, 1)$ and $\lambda > 0$, there are $r_0, p \in \mathbb{N}$ satisfying

$$\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G(x_k - x_p, \lambda) > 1 - \varepsilon \quad \text{and} \quad \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B(x_k - x_p, \lambda) < \varepsilon, \quad \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k - x_p, \lambda) < \varepsilon,$$

for all $r \geq r_0$.

Theorem 5. If a sequence $x = (x_k)$ in an NNS is strongly lacunary convergent of order α with respect to NN N, then it is strongly Cauchy of order α with respect to NN N.

Proof. Let $(G, B, Y)^{\alpha}_{\theta} - \lim x = \zeta$. Select $\varepsilon > 0$. Then for a given $\rho \in (0, 1)$, $(1 - \rho) * (1 - \rho) > 1 - \varepsilon$ and $\rho \Diamond \rho < \varepsilon$, we have

$$\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G\left(x_k - \zeta, \frac{\lambda}{2}\right) > 1 - \rho \quad \text{and} \quad \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B\left(x_k - \zeta, \frac{\lambda}{2}\right) < \rho, \quad \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y\left(x_k - \zeta, \frac{\lambda}{2}\right) < \rho.$$

We have to show that

$$\frac{1}{h_r^{\alpha}} \sum_{k \in I_r} G(x_k - x_m, \lambda) > 1 - \varepsilon \quad \text{and} \quad \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} B(x_k - x_m, \lambda) < \varepsilon, \quad \frac{1}{h_r^{\alpha}} \sum_{k \in I_r} Y(x_k - x_m, \lambda) < \varepsilon.$$

There are three possible cases:

Case (i). For $\lambda > 0$, we get

$$G(x_k - x_m, \lambda) \ge G\left(x_k - \zeta, \frac{\lambda}{2}\right) * G\left(x_m - \zeta, \frac{\lambda}{2}\right) > (1 - \rho) * (1 - \rho) > 1 - \varepsilon.$$

Case (ii). We obtain

$$B(x_k - x_m, \lambda) \leq B\left(x_k - \zeta, \frac{\lambda}{2}\right) \Diamond B\left(x_m - \zeta, \frac{\lambda}{2}\right) < \rho \Diamond \rho < \varepsilon.$$

Case (iii). We have

$$Y(x_k - x_m, \lambda) \le Y\left(x_k - \zeta, \frac{\lambda}{2}\right) \Diamond Y\left(x_m - \zeta, \frac{\lambda}{2}\right) < \rho \Diamond \rho < \varepsilon.$$

This shows that (x_k) is strongly Cauchy of order α with respect to NN N.

Acknowledgement

The authors acknowledge that some of the results were presented at the Sixth International Conference of Mathematical Sciences (ICMS 2022), 20-24 July 2022, Maltepe University, Istanbul, Turkey [14].

References

- N. D. Aral, H. Şengül Kandemir, I-lacunary statistical convergence of order β of difference sequences of fractional order. Facta Univ. Ser. Math. Inform. 36 (2021), no. 1, 43–55.
- 2. T. Bera, N. K. Mahapatra, On neutrosophic soft linear spaces. Fuzzy Inform. Engineering 9 (2017), no. 3, 299-324.
- T. Bera, N. K. Mahapatra, Neutrosophic soft normed linear spaces. Neutrosophic Sets and Systems 23 (2018), 52–71.
- 4. M. Kirisci, N. Simsek, Neutrosophic metric spaces. Math. Sci. (Springer) 14 (2020), no. 3, 241-248.
- M. Kirisci, N. Simsek, Neutrosophic normed spaces and statistical convergence. J. Anal. 28 (2020), no. 4, 1059–1073.
 O. Kisi, Lacunary statistical convergence of sequences in neutrosophic normed spaces. In: 4th International Conference on Mathematics: An Istanbul Meeting for World Mathematicians, Istanbul, 345–354, 2020.
- O. Kisi, On I_θ-convergence in Neutrosophic Normed Spaces. Fundamental Journal of Mathematics and Applications 4 (2021), no. 2, 67–76.
- O. Kisi, Ideal convergence of sequences in neutrosophic normed spaces. Journal of Intelligent & Fuzzy Systems 41 (2021), no. 2, 2581–2590.
- 9. K. Menger, Statistical metrics. Proc. Nat. Acad. Sci. U.S.A. 28 (1942), 535-537.
- 10. H. Şengül, M. Et, Lacunary statistical convergence of order (α, β) in topological groups. Creat. Math. Inform. 26 (2017), no. 3, 339–344.
- H. Şengül, M. Et, On (λ, I)-statistical convergence of order α of sequences of function. Proc. Nat. Acad. Sci. India Sect. A 88 (2018), no. 2, 181–186.
- H. Şengül, M. Et, f-lacunary statistical convergence and strong f-lacunary summability of order α. Filomat 32 (2018), no. 13, 4513–4521.
- H. Şengül, M. Et, H. Cakalli, On (f, I)-lacunary statistical convergence of order α of sequences of sets. Bol. Soc. Parana. Mat. (3) 38 (2020), no. 7, 85–97.
- 14. H. Şengül, M. Et, H. Cakalli, Strongly lacunary convergence of order α in neutrosophic normed spaces. In: Sixth International Conference of Mathematical Sciences (ICMS 2022), 20-24 July 2022, Maltepe University, Istanbul, Turkey.
- F. Smarandache, A Unifying Field in Logics: Neutrosophic Logic. Neutrosophy, Neutrosophic Set, Neutrosophic Probability and Statistics. Phoenix: Xiquan, 2005.
- 16. F. Smarandache, Introduction to Neutrosophic Measure, Neutrosophic Integral, and Neutrosophic Probability. Infinite Study, 2013.

(Received 28.09.2022)

¹HARRAN UNIVERSITY, OSMANBEY CAMPUS, ŞANLIURFA, TURKEY

²Department of Mathematics, Firat University 23119, Elaziğ, Turkey

³Mathematics Division, Graduate School of Science and Engineering, Maltepe University, Maltepe, Istanbul, Turkey

 $Email \ address: \verb+hacer.sengul@hotmail.com+$

 $Email \ address:$ huseyincakalli@maltepe.edu.tr

 $Email \ address: \verb"mikailet680gmail.com"$